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Al 420
-SAD| EHF 2] 150,0002 %12 150
& 45
Al 105
-SI)EE)| HE =8
19,9003 =104~ 123 239
= 72
Al 167
307 @I2t0| & 17,200 17,200 0
== 5,160
Al 12,040
0122 & 3=l 17,200 17,200 0
OBY, C 2t S A 20,0002 »860H 17,200
< 5,160
Al 12,040
o2g0i=sdt AN XA 66,782 67,090 2308
Jl 53,426
Al 13,356
308 AHAIEMSOIE 66,782 67,090 A308
Jl 53,426
Al 13,3%
183 SIS U B 4 HASAIE 66,782 67,090 2308
Oz 28022 AZBE EAILHI(=
QIAYEEIH) 66,782,000 * 104 2~ 66,782
Il 53,426
Al 13,35
QrdZet2te] AP WSAHY 2,500 2,940 2440
Jl 1,250
Al 1,250
201 eer23y| 2,500 2,940 440




SN ARF Y
Zu: AABT
o9l 2HANE AVSA (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 1,250
Al 1,250
01 A2l 2,500 2,940 440
OLersgH| 2,500
~oHE B AL DS (FMTP)
2,500,000& %1 2,500
Jl 1,250
Al 1,250
NS 2AAMH SAtdl 2= SEHe WA 1,420 1,705 N285
7l 710
Al 710
201 er23| 1,420 1,705 N285
Il 710
Al 710
01 At2teltl 1,420 1,705 A285
Oul=H| 1,420,000 %1 1,420
) 710
Al 710
S|IHEEA 2 ZHIXEAS 473,411 626,620 153,209
Jl 236,705
= 71,012
Al 165,694
308 AHAIEMSOIE 473,411 0 473,411
Jl 236,705
= 71,012
Al 165,694
18 SIS0t oA AS A 473,411 0 473,411
O3|AHEEA ASHIXE (AL 2SS
HE23) 473,411,000 * 14 473,411
) 236,705
= 71,012
Al 165,694
AEAF QS| XIEAIS (R EALY) 267,800 292,358 N\24,558
= 174,070
Al 93,730
307 @120l & 267,800 292,358 N\24,558
== 174,070
Al 93,730
0122 & 2= 267,800 292,358 A24,558
Ogstxt ol=Hl X1
267,800,000 *14] 267,800
= 174,070
Al 93,730
el 25 - BHUE +==Hl AFAS 53,000 0 53,000




SN ARF Y
Zu: AABT
o9l 2HANE AVSA (ol m2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
307 212+01 A 53,000 53,000
01 22 & 35| 53,000 53,000
OREIZZE == o2H NA
1,200, 000 *50Z *50% 30,000
OYLHE = =4l XA
200, 0002 x230H *50% 23,000
ZEE o2l 582,388 2,460,959 A1,878,571
= 2,262
J| 233,249
& 50,946
Al 295,931
BXF R A A 140,804 328,027 A187,223
& 11,706
Al 129,098
101 2124 d| 72,882 72,222 660
T 11,706
Al 61,176
M IIZMZ22 NS Es 72,882 72,222 660
OZgy Mg Q3 212441(1Y)
39,018,000 *1H 39,018
= 11,706
Al 27,312
ogagelal JIZHHZ 2 1A48I(1E) 30,946
-2 78,830% *1H 250 19,720
=54 78,8303 x 1 x5 4,102
-2 78,8803 1H 123 947
—2+HAlY| 2,000 *1H 250 500
-MEUF 120,520 x1H 122 1,447
-2t Oddl 140,000 x1F + 122 1,680
R ESE= 2,150,000&*1H 2,150
-HEZOHI 200,000 1 *23] 400
O4UHEE I 222 2,918
-=S0ALEE 25,960,000 x3.545% 921
-LOoIADIQYEE 921,000&*12.81% 118
-=013 25,960,000 *4.5% 1,169
-1EEE 25,960,000 *1.75% 455
—MTHEE 25,960,000 +0.982% 255
201 B2 AY| 19,102 26,090 6,988
01 A=R2teld| 5,462 7,502 22,040
OgEt=2H| 5,462
“HAE SAR SA2dRZ
50,0003 2% 100
“SAM BALL DIZHE S3E
19,0002 x2H 43| 152




SN ARF Y
M HUEW
Rl ZEE o2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-AEHE BARE 2 X FIIF A=
500,000& 12 500
28T ZAE FH(HHF) 7L
10,0003 x102|+5& 500
-H==Xiell 250,000 x12|+6& 1,250
-SJ&Z)| WEE nEH(adela 8)
500,000& *32 1,500
—largela B4 HoiE
55,0002 122 660
CI2H)l= ds8J| 24l
25,0002 128 300
-2gY 2el(E M| uR) 29 28 74
500,000& 12 500
02 S3=gl 13,640 18,588 A\4,948
OAlZ &l |XIH] 12,920
-0I0I= BAF EH| 21 95
2,500,000& *22] 5,000
HHE YA BEIX |X B4
330,000& * 122 3,960
08 4 M& 85 AIAE KA 2=
330,000 x 122 3,960
o8 22l FliliE 2=
60,0002 *1CH=120H & 720
202 04| 1,920 2,400 A480
01 2LHoIH 1,920 2,400 2480
Ot At 20| & 2L ol
20,0003 x4 #2435 1,920
307 el2to| & 39,000 39,000
012z & 2=Hl 39,000 39,000
gadela ZAAS & AR 39,000
—X& I XN 1,000,0002 *22] 2,000
-2 AR Al2F & ARE
1,000,000& #52 5,000
—H3Sh ZAE A2 & ARE
2,000,000 #4323 8,000
042 SAME A X 223
2,000,000& *42] 8,000
—HOH AN AS Y ADE
1,000,000& *42] 4,000
-HHOIA A BAKE AlSF & ARS
1,000,000 *62] 6,000
-0I01 =, 88 ZAES NS & 225
2,000,000 *32] 6,000
402 BIZtAH=01 A 7,900 7,900
03 2IZHRAETAIHHI 7,900 7,900
OIS XIEE el At
7,900,000 12 7,900




SN ARF Y
M HUEW
Rl ZEE o2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Zg8d o 82 ¥ u=s 5,470 7,100 21,630
201 er23 | 4,575 6,500 A1,925
01 At2teltl 4,575 6,500 1,925
Odgt+==H| 4,325
-2gY olg(0lol=, &N 228 EE) 2
2 e MH 1,000 *2,5000HK 2,500
& A0 WF AEF ME
2,000 50004 1,000
-HYUEELLHSY s MI A
5,0003 %1657 *13] 825
O=2d =g 250
HYUEEZUHRY us A =
250,000 x1H =13 250
202 04l 400 600 A200
01 2LHoIH 400 600 A200
OS24 & 2E8EEYA UsF &4
]l 200, 0002 x2& %25 x50% 400
301 EtE2 N = 495 495
11 #AIAMHIXIZ S 495 495
OZEEEZLIH WS EIIAF 2HAH]
3,000 * 1652 %12 495
SIS2ELZEH HEZAIMA 2EXE 8,640 36,000 N27,360
7l 8,640
307 gl2to| & 8,640 36,000 A27,360
Jl 8,640
02 2IZHB A E & 8,640 36,000 A27,360
O2z 2l 28 H2ZAID12 Al X
el 2,160,000 *40H 2= 8,640
Jl 8,640
ool & d30ie AXMEZx 4,378 4,480 A102
Il 2,189
Al 2,189
307 elztol & 4,378 4,480 A102
Jl 2,189
Al 2,189
012z & 2=H| 4,378 4,480 A102
CHIV &IEHAISE 201 S 2,189,000& *23] 4,378
Il 2,189
Al 2,189
glolz=zgel XI=H 46,518 46,518 0
Jl 23,259
=S 6,978
Al 16,281
307 @12t01 & 46,518 46,518 0




SN ARF Y
M HUEW
Rl ZEE o2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 23,259
=S 6,978
Al 16,281
012z € 2=H] 46,518 46,518 0
OHIV / AlDS & ZH| 46,518,000& 14] 46,518
Jl 23,259
= 6,978
Al 16,281
SlZJ| 2 BSEtA 22K 110,295 110,295 0
Jl 110,29
307 elztol & 110,29 110,29 0
) 110,295
02 2B HAHE L 110,29 110,29 0
Oz 2 (3Hn)
36,765,000 *37H 2~ 110,295
Jl 110,295
2AAS S X2 73,592 73,592 0
Jl 36,796
Al 36,796
101 @124H| 73,592 73,592 0
Jl 36,796
Al 36,796
MU IIRIMZZENSES 73,592 73,592 0
OZSFESAL Q124H| (2)
36,796,000 x2H 73,592
Jl 36,796
Al 36,796
g ekt X3 4,505 6.627 A2,122
Il 2,252
= 677
Al 1,576
307 @I2t0| & 4,505 6,627 N2,122
Jl 2,252
= 677
Al 1,576
0192 & 2=Hl 4,505 6,627 N2,122
gEggiy ext A
4,505,000 * 14 4,505
Jl 2,252
= 677
Al 1,576
224 2B HAF R A 30,510 30,510 0
Il 15,255
= 4,576




S ALY
Ha: AUZX
Crol: 2tele ol
S A - BRI - NRA - BES e
Al 10,679
307 gl2tol & 30,510 30,510
Il 15,255
= 4,576
Al 10,679
0oz & 30,510 30,510
OAA | 4] 2 (84321 )
30,510,000 x 14 30,510
Il 15,255
= 4,576
Al 10,679
L ASI AL 27,128 26,128
Il 13,064
= 5,226
Al 8,838
201 Ler23| 6,688 6.688
Il 3,344
[ 1,338
Al 2,006
01 A2 6,238 5,070
Oogers 6,238
23
1,000& 2,000 2,000
Il 1,000
= 400
Al 600
-2 HA 100&*2,000 200
Il 100
& 40
Al 60
=i=p 225 7Y
173,800& %102 1,738
Il 869
= 348
Al 521
= 200,000 43 800
Il 400
== 160
Al 240
=
500,000 *3CH 1,500
Il 750
= 300
Al 450




AZE
AAZZ
ZgY olga2e (SH &)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
2 35=2Y 450 1,618 1,168
Oz 2H 4,5002 100 450
Jl 225
< 0
Al 135
202 04l 4,440 4,440 0
Jl 2,220
& 888
Al 1,332
01 SLHo4H 4,440 4,440 0
Obl=8 2tk
20,0002 x2EH +83|* 122 3,840
Il 1,920
== 768
Al 1,182
OZ™u=s &
150, 000& x2& »23] 600
Jl 300
S 120
Al 180
307 glztol & 15,000 15,000 0
J| 7,500
< 3,000
Al 4,500
012z ¢ 15,000 15,000 0
OZSHASI A 15,000,000 * 14| 15,000
J| 7,500
=S 3,000
Al 4,500
405 KHaHH = 1,000 1,000
01 Tt = 1,000 1,000
=L Al UiLe)| e
1,000,000 «1CH 1,000
ZeEA JI=5E 6,149 5,892 257
) 3,075
S 922
Al 2,152
307 glztol & 6,149 5,892 257
Jl 3,075
S 922
Al 2,182
012z ¢ 6.149 5,892 257
OZ ekt It 6,149,000~ 14 6,149
Jl 3,075
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SN ARF Y
M HUEW
el 288 oz (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-FEag 78.88021x32 x42 947
2l 2, 000232222 132
R 78,8802 +32+ 101 2 237
L=
120,520 *3E* 112 362
201 er23 | 18,928 64,200 N45,272
01 At2teltl 16,888 61,320 N4, 432
ER=lest sl 14,088
-2ISHJI= XMl
2,0002 *100kg* 1291 2 2,400
-O2HIIZ EE8I| 230 &)
1,000 *100JH* 129 1,200
-H &2 2L S20HAH]
2,880,000 %14 2,880
-SAD EYH #EH
150,000 x55+23] 1,500
-SAEX P
23,0003 »4=r A 60 = 552
-ANRES P2 100,000 <61 2 600
)| dE =8 55,0002 1204 2 660
-SJI1EE0| 28 18I
80,0002 *3CH*13] 240
-SAD| HE =8 88,0002 *129HE 1,056
-E2E N 3,000 *1,000H 3,000
O=2g+¢ 2,800
“SAOASZ N A+
70,000 * 102 *42] 2,800
02 S52g4l 840 2,880 22,040
O8&8k= 840
2488 s sl 2=
70,0002 «1CH* 1200 2 840
03 A= I 1,200 0 1,200
(@)1= pagestall 1,200
-2HASEAM 22 2|
300,000 42 1,200
202 04l 2,400 2,250 150
01 2LHoIH 2,400 2,250 150
OME & imea8d WsEA 0l
200, 0002 6 *42| x50fk 2,400
301 EtE N = 1,240 1,240
11 #AIAHIXI 2= 1,240 1,240
@=] 1,240
-SEHAAE LU FAK Al
3,0003 %100 *23] 600
-2AOSEHIAM FE S FAKN S|
8,000 20 *42 640




SN ARF Y
M HUEW
el 288 oz (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 10,000 171,750 A161,750
019z & 3=l 10,000 171,750 161,750
ozgd Us 237 10,000
-2AHE(KFM)0tA3 2503 6, 5000H 1,625
—ASATY 0| 5,0002x20074 1,000
—EAS 4,000 200K 800
-A=El 4,000 100K 400
-Zcl=2dE 2,500 x1002 250
-AIHE AR E 2,500& *1,000H 2,500
JIBES4BESH) 3,425,000 x14] 3.425
AE2HALS 9,221,770 11,628,809 A2,407,039
= 1,635,317
Il 450,826
= 960,752
Al 6,174,875
EaPNE 916,290 2,239,440 1,323,150
201 er23| 4,050 2,200 1,850
01 AtR2te|HI 4,050 2,200 1,850
Odgt+=H| 4,050
“ENEYRY 2YSE 7Y(Y42 S)
13,5002 x300 4,050
301 LELEN S 881,000 2,206,000 /1,325,000
02 MBI 2HHSFHS(HAANS, KLHE) 881,000 0 881,000
Osdt=ol=2 X 713,000,000& x14] 713,000
OZR0I2E MYl A 168,000
e PUE P, 20,0003 700~ 122 168,000
307 @I2t01 & 31,240 31,240
0122 2 3= 31,240 31,240
OZae M 12,0002 850 10,200
OWHIR2 SatH 2
86,0002 +500& *3H & 9,000
O & ST S SAF Al
4,240,000 *14] 4,240
Og=0t &M 7 19,5002 400 7,800
CHSO0I0tE S0tE83 24l XA 50,000 36,000 14,000
& 20,000
Al 30,000
301 EtE NS 50,000 36,000 14,000
= 20,000
Al 30,000
02 A2 X LGS (FHAAHS, NLWE) 50,000 0 50,000
OUS0IHE |05 +&dl X 50,000
—SURH XA Ol & 500,000 x100H 50,000




SN ARF Y
Zu: AASW
&2l BAEHAI (SH &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
< 20,000
Al 30,000
R0 K2 A 1,903,000 1,648,000 255,000
= 1,427,000
< 142,800
Al 333,200
308 XXM SOIE 1,903,000 1,648,000 255,000
= 1,427,000
== 142,800
Al 333,200
18 SV 2SS & AET AL 1,903,000 1,648,000 255,000
OHOIL0IBA NRAY(ASSBE S 2
&§3) 1,903,000,000& *14] 1,903,000
= 1,427,000
== 142,800
Al 333,200
ololsa2elXJdE 24X 29 630,000 630,000 0
Jl 315,000
s 63,000
Al 252,000
307 @I2t01 & 630,000 630,000 0
Il 315,000
= 63,000
Al 252,000
05 git?(& = 630,000 630,000 0
Oo0lglolaa 22l NEdH 28 2S
630,000,000 *10H 2~ 630,000
Il 315,000
= 63,000
Al 252,000
NASE JIMAH € ZHER AE 416,635 413,340 3,295
= 208,317
= 62,495
Al 145,823
308 AHAIEMSOIE 416,635 413,340 3,29
= 208,317
= 62,495
Al 145,823
183 SV 2SS & HASAIE 416,635 413,340 3,29
O & ZHESR XA EHEEH
AE3) 416,635,000 * 14 416,635
= 208,317
= 62,495
Al 145,823




SN ARF Y
Zu: AASW
Cel: 2XEAALS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
XA S SEHBERAI (S LEHAAY) 94,495 97,938 A3,443
Jl 47,248
== 9,449
Al 37,798
201 =3 655 518 137
J| 328
=S 65
Al 262
01 At 22|l 655 518 137
Ooget+=EHI 655
At o= HMIE 655,000 14| 655
J| 328
=S 65
Al 262
202 04| 3,840 4,320 A480
Jl 1,920
=S 384
Al 1,536
01 2LHA b 3,840 4,320 A480
Og2elA Mgy S0
20,0002 «82L 2+ 12042 3,840
7l 1,920
= 384
Al 1,536
301 22N 90,000 93,100 23,100
7l 45,000
= 9,000
Al 36,000
01 Al EE A S(FRDEXMA) 90,000 93,100 23,100
O2&A=HI 90,000,000& *14! 90,000
Il 45,000
= 9,000
Al 36,000
2SS A HATHA AIH2IH| 1,250 1,250 0
Il 1,000
Al 250
201 223 1,250 1,250 0
7l 1,000
Al 250
01 At22t2lt] 1,250 1,250 0
O2280=ait dHZd AlE2EH|
1,250,000 14! 1,250
Jl 1,000




SN ARF Y
B A=
Cel: 2XEAALS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 250
2gd0issd Nt R0t H A XH 7,816 7,207 609
Jl 6.253
Al 1,563
308 XXM SOIA 7,816 7,207 609
7l 6,253
Al 1,563
18 SI[2S0tHet & A A5 At 7,816 7,207 609
OgMI0Iet 22022 At Bab|(2L!
AYBEDE 2I=r3)
7,816,000 14 7,816
Jl 6,253
Al 1,563
S=0F LEHH LA XA 3,581 2,581 1,000
Il 2,865
Al 716
307 212+01& 3,581 2,581 1,000
Jl 2,865
Al 716
0122 & 3=l 3,581 2,581 1,000
OYROMLL T FUHAH| X2
3,581,000 *14] 3,581
Jl 2,865
Al 716
LA R 1,824 1,974 A150
Il 912
= 456
Al 456
307 el2tol & 1,824 1,974 A150
) 912
< 456
Al 45
019z & =4l 1,824 1,974 A150
O/l 0t ™ DRI Ardl]
1,824,000 14| 1,824
Il 912
S 456
Al 45
SHEUAIOIE S A & 20t 36,726 45,968 N9,242
Jl 18,363
Al 18,363
307 gl2to| & 36,726 45,968 N9, 242
) 18,363
Al 18,363




SN ARF Y
B A=
Cel: 2XEAALS EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
01 9= ¥ 3l=H| 36,726 45,968 NQ,242
O SAIOI&Z A & 2H0t2tel
36,726,000 3 14! 36,726
| 18,363
Al 18,363
Ol=0t & AFH0|&0F 2 ZHIKIA 23,074 35,826 A12,752
| 11,537
Al 11,537
307 QIZ2t01 A 23,074 35,826 A12,752
| 11,537
Al 11,537
01 9= ¥ 3l=t| 23,074 35,826 AN12,752
OO0I=0t & A& H0IA0F oj=H| X
23,074,000 3 14! 23,074
| 11,537
Al 11,537
KNS REE A MHIAETIAIS (AR A0 HZ 22| K 404,129 404,129 0
2) (& EtAr)
= 319,262
Al 84,867
308 AEXIHM SOl & 404,129 404,129 0
= 319,262
Al 84,867
13 I 2SO E & A S AL 404,129 404,129 0
OMDAMO} AT A (MBS ERE RS
ES) 404, 129,000& 14 404,129
& 319,262
Al 84,867
A AIMOF AZ22 XA (FIHKIR) 88,920 88,920 0
T 26,676
Al 62,244
301 LBENF 88,920 88,920 0
= 26,676
Al 62,244
02 MBI EZAG2(HUAS, XLTHEA) 88,920 0 88,920
OMDAMO} AABITA(B22 XI2)
88,920,000 & * 14 88,920
& 26,676
Al 62,244
SIS 22 A= AHlA SUHKIR 106,782 239,274 A132,492
= 71,782
Al 35,000
308 AXIEHMSOIN 106,782 239,274 A132,492
= 71,782




SN ARF Y
Zu: AASW
Cel: 2XEAALS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 35,000
183 S| 2SO ZB XA AIE 106,782 239,274 A132,492
OSMIHY #2 M=F2| AdIA UK
CEEEEEEETE)
106,782,000 * 14! 106,782
== 71,782
Al 35,000
S3M=Reld K3A 48,510 48,510 0
= 19,404
Al 29,106
307 elzto| & 48,510 48,510 0
= 19,404
Al 29,106
019z & 2=Hl 48,510 48,510 0
OzzeERRY 2BE X
1,078,000 x45H 48,510
s 19,404
Al 29,106
XA 2H 18,645 16,702 1,943
101 @124H| 15,685 14,952 733
M ORIMZZ2NSE S 15,685 14,952 733
O XS HA QI2AHI (1) 14,159
-Jles 78,8803 x 1 *125& 9,860
=5=g 78,8802 x 1 »26& 2,051
—ZHAH| 2,0003 1 ~125 250
-Ex==g 78,8802 x1H 6 474
-SESOt| 200,000 x12H 13 200
—dEUSEMSY 120,520 x 1 +62 724
2L 048] 100,0002 1 +63 600
OAll 282 JI28Y=3 1,526
-=QALEE= 13,559,000 *3.545% 481
- QRYEEE 481,000& *12.81% 62
=3 EEEs 13,559,000 *4. 5% 611
-UEEEE 13,559,000 *1.75% 23
“MHEEE 13,559,000 *0. 982% 134
201 er23| 2,560 1,080 1,510
01 At2teltl 2,560 1,050 1,510
(@)= st =l 2,560
-RAEHY BE=S 7Y
100,000 432 400
-T2 EY 7Y 150,000 x4 H 600
-ogliE Eg 7Y 330, 0003 *2H 660
-DREHAIY 25 M (AT )
1,8002 *1,0007H*50f% 900
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Jl 1,592,537
=S 15,887
Al 1,576,651
101 ©1AH| 23,069 23,069
Jl 11,534
Al 11,535
M ORINZZ2NSE S 23,069 23,069
O=JHLEEAY Mgelsd olAH| (1Y) 23,069
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Al 763,868
~0RI01E RARY L ESSHY oS0l
A Gl E S A 340,890,000 *14] 340,890
) 170,445
Al 170,445
-SSu 153 S AL KB SAY
39,834,000 * 14| 39,834
Jl 19,917
Al 19,917
AR QIBSAT KL EAY
13,336,000 * 14 13,336
Jl 6,668
== 6
Al 6.662
HV IX BE2S X L ESAY
8,830,000& 14 8,830
Jl 4,415
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Al 4,258
PV DIBSA HLESAY
75,348,000 * 14! 75,348
Il 37,674
= 529
Al 37,145
-0l HLEBSAIH(4B)
1,151,974,000& 14] 1,151,974
Jl 575,987
= 15,195
Al 560,792
BHAE FLII2Y YA
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7l 2,029
Al 2,029
Al =01 OISES At 78,486 0 78,486
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O4i2E JI2RY= 1,016
—=UALEE= 9,003,000 *3.545% 320
“LRIIRAYTEE 320,000 %12.81% 4
-=0H=EEE 9,003,000 4. 5% 406
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01 AtR2te|HI 9,218 9,218
Oget=EH| 9,218
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1,475,000 22 2,950
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2,000 x10kg =102 200
-0IUES QM2 MA(WIE, AUHE S)
1,100,000& *22] 2,200
-QIERA HYES 224 =l
8,0002 88 *30 1,920
-HZES dOIMERE & Y
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100,000 4 400
-OIgE S ZHl +cld 200,000 x35 600
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Onzdsd(dNE)3H 0182
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OBty Al 4,136
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OQIZR0L} HA(RE)
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OHLEE 2422 P (LBas8E 2 2
E) 1,475,000 22 2,950
FIFHS LUEFAL HLBESAIS 41,399 41,39
< 12,420
Al 28,979
307 212t01™ 41,39 41,39
= 12,420
Al 28,979
0122 2 /=4 41,39 41,39
OFALAHE UASRAX KILTSAI(3,8692)
41,399, 00021 %14l 41,399
s 12,420
Al 28,979
& S EAE 114,000 114,000
< 34,200
Al 79,800
307 212t01™ 114,000 114,000
= 34,200
Al 79,800
0122 2 /=4 114,000 114,000
OUAEX KEESAIE(1,1402H)
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DZLHO G BEAE RN sy A7
101 e124d| 42,925 42,925
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-IESEE 19,938,600 *1.75% 349
“~HEE = 19,938,600 *1.004% 201
201 B2 AL| 15,942 15,942
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OY=RES AIE F=X Uz
50,0002 *3Al 2t+5 2 *33] 2,250
OHgsEs Ty el
237, 0002 *43] 948
® 222l 1,344 1,344
O2ZLHY DIZEX E2 LWL
4002 *3,000H 1,200
OdIMEZE OlBZ 12,0003 122 144
301 LEHBEF 16,250 16,250
14 JIEI2 43 16,250 16,250
OYRES 2Ar 21HHI(1Y) 16,250
28 350,000& =40 14,000
e ak=-Eat=y 50,0003 40 2,000
-MEQ 100,000& *13] 100
—nssg 150,000 13 150
307 gIzHol 2,000 2,000
01 22 & 35| 2,000 2,000
OL38& S AZALEE 72
2,000,000 14 2,000
TZLHI HIYE S Al 544,755 544,755
= 272,378
= 81,713
Al 190,664
307 2I2+0l ™ 544,755 544,755
= 272,378
& 81,713
Al 190,664
01 22 & 35| 544,755 544,755
O2ZLHY HIZLES AlHI(27,5004)
544,755,000& * 14! 544,755
= 272,378
& 81,713
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| 1] Al 190,664
dF2LIH(AZFHD) 821,080 918,641 A97,561
Il 262,360
== 45,615
Al 513,105
el 2 E | 705,242 754,073 48,831
] 262,360
= 45,615
Al 397,267
XSS SEHYSEAIL (AL AL IR Y) 36,653 32,231 4,422
Il 14,930
= 2,986
Al 18,737
101 o1t 3,653 3,231 4,42
) 14,930
= 2,986
Al 18,737
03 SR (RINAHA) 222+ 36,653 32,231 4,422
OUZHHIMNEAMNY 22X E= 32,619
—HAMEIHL ALY 1A (19)
2,262,000~ 1E* 122 27,144
Il 13,572
= 2,714
A 10,858
-GS0l 1,357, 2002 x1 & 22 2,715
Il 1,358
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Al 1,085
EY4Y 100,0002!+124 128 1,200
“WS2 x| 50,0002 x1& * 122 600
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02028 g 1,981
SCEESl] 420 400211213 421
- NS A 80,0002 x1&x 12 960
-nEt| 50,0008!x120 128 800
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~HouZ Al 80,0002!+12 408 720
-DEt| 50,0008!+12 08 480
NAAE S8 SHXBMHIA(SSHE2IHURY) 76,232 65,680 10,552
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=S 6.541
Al 36,989
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—SH3CHAE 21AH|
2,272,000 2F 123 54,528
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- A ZAH| 80,0002 28 122 1,920
-wSEAH| 50,0008 x2& * 12 1,200
HEEs S=dH 29 38,288 55,960 A17,672
) 15,892
Al 22,39%6
101 21AH| 38,288 55,960 A17,672
Il 15,892
Al 22,3%6
03 SR (RIH )22 U2+ 38,288 55,960 A17,672
O=JIgES dgel= o1Ad((1g) 31,784
-Jl=ag 2,060, 7403« 1H+ 122 24,729
Jl 12,364
Al 12,365
-g&=4 1,236,450 %23 2,473
Jl 1,237
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